Lesson 2 Summary

There are 12 inches in a foot, so we can say that for every 1 foot, there are 12 inches, or the
ratio of feet to inches is 1: 12. We can find the unit rates by dividing the numbers in the
ratio:

1+12==~ 12+1=12
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.1 . so there are 12 inches per foot.
so there is > foot per inch.

The numbers in a ratio can be fractions, and we calculate the unit rates the same way: by
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dividing the numbers in the ratio. For example, if someone runs " mile in Y minutes, the
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ratio of minutes to miles is S
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pace is — minutes per mile. speed is - miles per minute.
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